* (&E#MFARBR, &R 4.8 HF,
D5 MM TFHEE =1, +max[ (12d),( XA E - BFELE) ] x2
=5760 + max[ (12 x 18),(240 -20) ] x2
=6200 mm
@FMah FHEAE =, +max[ (15d) (L BT -KF LR )] x2 +2 x6.25d
=5760 + max[ (15 x12),(240 -20) ] x2 +2 x6.25 x12
=6350 mm
BSMMTHER =1, +15dx2 +2 x6.25d
=5760 + 15 %12 x2+2x6.25 x12
=6270 mm
DEMABTFTHEL=[(200-20%2) +(500-20%x2)] x2 +1.9d x2 + max[5d, 50] x2 =3 A~ 90°F &
£4i
=(160 +460) x2 +1.9 x8 x2 +50 x2 -3 x 2. 288d
=1316 mm
GFMMTHEE=(200-20x2) +1.9d x2 + max[5d, 50] x2 =290 mm
DE A 4LE = (5760 =50 x2) +200+1 =29(4%) 29 +2x2=33(4%)
BFHAh3F = (5760 =50 x2) =400 +1 =15( &)
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